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1. The number line representing integers is given below

-3 -4

1 i L L i i L i i L i i i i i =
»

AEGDEFGHIJHLHNI&I

F

-3 and -2 are

marked by E and F repectively .Which itergers are marked by B,D,H,J,M, O?

° Watch Video Solution

2. Arrange 7,5,4, 0 and -4 in ascending order and then mark them on a

number line to check your answer .


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pLBewpIfp5uX
https://dl.doubtnut.com/l/_IpRSSzxjdW5N

o Watch Video Solution

3. We have done various patterns with numbers in pur previous class .

Can you find a pattern for each of the following ? If yes competer them

to complete them.

o Watch Video Solution

4. We have done various patterns with numbers in pur previous class .

Can you find a pattern for each of the following ? If yes competer them

to complete them.

o Watch Video Solution

5. We have done various patterns with numbers in pur previous class .

Can you find a pattern for each of the following ? If yes competer them


https://dl.doubtnut.com/l/_IpRSSzxjdW5N
https://dl.doubtnut.com/l/_ft6BNsZAzbCg
https://dl.doubtnut.com/l/_RIxYWF7NuP6E
https://dl.doubtnut.com/l/_7BxQFUide3fa

15 ,10,5,0,..cccc0preeveyeene. Make some more such patterns and ask your friends to

complete them.

° Watch Video Solution

6. We have done various patterns with numbers in pur previous class .
Can you find a pattern for each of the following ? If yes competer them
“11,-8,-5,72,geeseeeeye. Make some more such patterns and ask your friends

to complete them.

° Watch Video Solution

7. Write a pair of integers whose sum gives

a nagative integer

° Watch Video Solution



https://dl.doubtnut.com/l/_7BxQFUide3fa
https://dl.doubtnut.com/l/_YdBbBjn2kGLV
https://dl.doubtnut.com/l/_v4L8mHfP52zX

8. Write a pair of integers whose sum gives

zero

o Watch Video Solution

9. Write a pair of integers whose sum gives

An integer smaller than both the intergers

o Watch Video Solution

10. Write a pair of integers whose sum gives

An integer

o Watch Video Solution

11. Write a pair of integers whose sum gives positive integer

o Watch Video Solution



https://dl.doubtnut.com/l/_PaIJKtezzKu3
https://dl.doubtnut.com/l/_P9WCI0d3oqEs
https://dl.doubtnut.com/l/_fZPdFhSwnNak
https://dl.doubtnut.com/l/_RMWwlJ7mm8Ea

12. Write the pair of integers whose difference gives

a negative interger

o Watch Video Solution

13. Write a pair of integers whose sum gives

Zero

o Watch Video Solution

14. Write a pair of integers whose sum gives

An integer smaller than both the intergers

o Watch Video Solution



https://dl.doubtnut.com/l/_RMWwlJ7mm8Ea
https://dl.doubtnut.com/l/_coaRlj13vN1P
https://dl.doubtnut.com/l/_Gjn0PQbTmQSW
https://dl.doubtnut.com/l/_xWuTHbJAKVK9

15. Write the pair of integers whose difference gives

an integer smaller than both the intergers .

o Watch Video Solution

16. Write the pair of integers whose difference gives

an integer greater than both the intergers.

o Watch Video Solution

17.Find 4 x ( — 8) Using the number line .

o Watch Video Solution

18.Find 8 x ( — 2) Using the number line .

o Watch Video Solution



https://dl.doubtnut.com/l/_uBrH6ru0B8B3
https://dl.doubtnut.com/l/_h1trYOVjHmm4
https://dl.doubtnut.com/l/_uZJSIgeZBoHi
https://dl.doubtnut.com/l/_t8BTWwBiutSQ
https://dl.doubtnut.com/l/_LszOgSC8XL5e

19.Find 3 x ( — 7) Using the number line .

o Watch Video Solution

20.Find 10 x ( — 1) Using the number line .

o Watch Video Solution

21.Find in a similar way

o Watch Video Solution

22.Find in a similar way

o Watch Video Solution



https://dl.doubtnut.com/l/_LszOgSC8XL5e
https://dl.doubtnut.com/l/_GEzS1NBP4Rau
https://dl.doubtnut.com/l/_SPTNjuEVwV20
https://dl.doubtnut.com/l/_6miiEAiZi1By
https://dl.doubtnut.com/l/_rVr38rzICGo0

23.Find in a similar way

o Watch Video Solution

24.Find in a similar way

o Watch Video Solution

25.Find 6 x ( — 19)

o Watch Video Solution

26.Find 12 x ( — 32)

o Watch Video Solution



https://dl.doubtnut.com/l/_rVr38rzICGo0
https://dl.doubtnut.com/l/_eFITRsicUxye
https://dl.doubtnut.com/l/_srEze6BaTCDu
https://dl.doubtnut.com/l/_pX5tkYA5Gvsv
https://dl.doubtnut.com/l/_QYpGLhQQdj7x

27.Find 7 x ( — 22)

° Watch Video Solution

28. Using the pattern , find
(—4) x8,(—3)x7,(—6)x5and (—2) x 9Checkwhether
(—4) x8=4x(—-28)

° Watch Video Solution
29. Using the pattern , find
(—4) x8,(—3)x7,(—6)x5and (—2) x 9Checkwhether
(=3)x7T=3x(—-17

° Watch Video Solution
30. Using the pattern , find

(—4) x8,(—3)x7,(—6)x5and (—2) x 9Checkwhether


https://dl.doubtnut.com/l/_QYpGLhQQdj7x
https://dl.doubtnut.com/l/_CQjbNNfOq6DS
https://dl.doubtnut.com/l/_zqenZRmVUIWw
https://dl.doubtnut.com/l/_BFcXPeJlIm6b

(—6)x5=6x(—25)

° Watch Video Solution

31. Using the pattern , find
(—4) x8,(—3)x7,(—6)x5and (—2) x9Checkwhether

(—2)x9=2x(-9)

° Watch Video Solution

32.Find 15 x ( — 16)

° Watch Video Solution

33.Find 21 x ( — 32)

° Watch Video Solution



https://dl.doubtnut.com/l/_BFcXPeJlIm6b
https://dl.doubtnut.com/l/_7B5BxBcRcqM3
https://dl.doubtnut.com/l/_IQZpdDI8I14G
https://dl.doubtnut.com/l/_uk7Y7yhxiCa3

34.Find ( — 42) x 12

o Watch Video Solution

35.Find —55 x 15

o Watch Video Solution

36.Check if 25 x ( — 21) = ( — 25) x 21 Write five more such examples .

o Watch Video Solution

37. Check if ( — 23) x 20 = 23 x ( — 20)

Write five more such examples .

o Watch Video Solution



https://dl.doubtnut.com/l/_RdD8U5dIbs99
https://dl.doubtnut.com/l/_A26PP0mLhQtu
https://dl.doubtnut.com/l/_XJlQhPWP5oJj
https://dl.doubtnut.com/l/_ai5r919E59vU

38. Five more such examples are as follows

20 x ( — 15) = ( — 20) x 15

o Watch Video Solution

39. Five more such examples are as follows

(=9 x8=9x(—-38)

o Watch Video Solution

40. Five more such examples are as follows

12 x (—10) = ( — 12) x 10

o Watch Video Solution

41. Five more such examples are as follows

(= 100) x 79 = 100 x ( — 79)



https://dl.doubtnut.com/l/_boafBfJps8BD
https://dl.doubtnut.com/l/_NZ76oXHnQsXT
https://dl.doubtnut.com/l/_ngqf51atfReT
https://dl.doubtnut.com/l/_xQdlAzlPXZso

| & Watch Video Solution

42. Five more such examples are as follows

11 x (—12) = (— 11) x 12

o Watch Video Solution

43. Starting from ( — 5) x 4,find (—5) x ( — 6)

o Watch Video Solution

44, starting from ( —6) x 3find (—6) x (—7)

o Watch Video Solution

45.Find : ( — 31) x (— 100)

o Watch Video Solution



https://dl.doubtnut.com/l/_xQdlAzlPXZso
https://dl.doubtnut.com/l/_e1XIQ7iWpEYO
https://dl.doubtnut.com/l/_I3L3I5bP67XW
https://dl.doubtnut.com/l/_YCu7cJLHVRx2
https://dl.doubtnut.com/l/_Kyj4LQB402WG

46.Find : (— 25) x ( — 72)

o Watch Video Solution

47.Find : ( — 83) x ( — 28)

o Watch Video Solution

48.1510 X [(6) 4+ ( — 2)] =10 x 6 + 10 x ( — 2)?

o Watch Video Solution

49.

(=15 x[(-7+(-1D]=(=-15)x (=7 +(—15) x (—1)?

o Watch Video Solution



https://dl.doubtnut.com/l/_Kyj4LQB402WG
https://dl.doubtnut.com/l/_LWOIfncFFlsX
https://dl.doubtnut.com/l/_W4bg451kK87Y
https://dl.doubtnut.com/l/_wxYfGJIcEeIA
https://dl.doubtnut.com/l/_JegqJGUIJbzf
https://dl.doubtnut.com/l/_QuydyE6gBRPL

50.1s10 x [6 — (—2)] =10 x 6 — 10 x ( — 2)?

o Watch Video Solution

51. Is
(=) x[(=7)—(-D=(-15)x(-7)—(-15) x (-7 - (-1

?

o Watch Video Solution

52.Find ( — 49) x 18 Using distributive property

o Watch Video Solution

53.Find ( — 25) x ( — 31) Using distributive property

o Watch Video Solution



https://dl.doubtnut.com/l/_QuydyE6gBRPL
https://dl.doubtnut.com/l/_7otFIg8DQPYD
https://dl.doubtnut.com/l/_1z1VVscmxX3b
https://dl.doubtnut.com/l/_STPyygC9YQqX
https://dl.doubtnut.com/l/_k73bujX5Ke8B

54.Find 70 x ( — 19) + ( — 1) x 70 Using distributive property

o Watch Video Solution

55.Find ( — 100) = 5

o Watch Video Solution

56. Find ( — 81) =~ 9

o Watch Video Solution

57.Find ( — 75) = 5

o Watch Video Solution

58.Find ( — 32) = 2

| o WMl L \ 2 dana C Al ilklmn


https://dl.doubtnut.com/l/_k73bujX5Ke8B
https://dl.doubtnut.com/l/_LjnbD1lDNpKG
https://dl.doubtnut.com/l/_O3BTMneW6H8P
https://dl.doubtnut.com/l/_1AJjcTWyJpoW
https://dl.doubtnut.com/l/_sGx1o712Mn9e
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59.Find 125 + ( — 25)

o Watch Video Solution

60. Find 80 = ( — 5)

o Watch Video Solution

61.Find 64 < ( — 16)

o Watch Video Solution

62.Find ( — 36) = ( — 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_sGx1o712Mn9e
https://dl.doubtnut.com/l/_9TgcclS5Zzo1
https://dl.doubtnut.com/l/_78Aa9ZyKA4Mx
https://dl.doubtnut.com/l/_x1qY3notrHAx
https://dl.doubtnut.com/l/_C8DMvZfyQ3cD
https://dl.doubtnut.com/l/_XMk0B1SONKuE

63. Find

(—201) = (—3)

° Watch Video Solution

64. Find ( — 325) = ( — 13)

° Watch Video Solution

1. Following are some pairs of integers .Observe the following table and

complete it .

Statement Obervation

(i) 17 4+ 23 = 40 Result is an integer
(i) —10 4+ 3 = ... e
(i) (—75) + 18 = oo e

(iv)19+ (—25) = — 6  Result is an integer


https://dl.doubtnut.com/l/_XMk0B1SONKuE
https://dl.doubtnut.com/l/_ACNVUmRZWgbQ
https://dl.doubtnut.com/l/_KUBmWhnb6Of0

WM2T+(—27) = cc.. e,

(i)(—20) +0=...... cererrnnnnnn

(vii) ( — 35) + (— 10) = ....... C e

What do you observe ? Is the sum of two intergers always an integer? Did

you find a pair of integers whose sum is not an integer ?

o Watch Video Solution

2. What happens when we subtract an interger from another integer ?
Can we say that the difference is also an integer ? Observe the following

table and complete it .

Statement Observation
MH7—9= -2 Result is an interger
()17 —(—21) = eeeees e,

(i) (—8) —(—14) =6  Result is an integer.
(V) (—21) — (= 10) = oo e, :
W32—(=17) = ceet e,

i) (—18) — (—18) = eee. e,

Wi) (—29) =0 = cecee oo,


https://dl.doubtnut.com/l/_KUBmWhnb6Of0
https://dl.doubtnut.com/l/_2scWS4mnNwae

What do you observe ? Is there any pair of integer whose difference is not

an integer ? Can we say integers are close under subtraction ?

o Watch Video Solution

3. We know that 3 + 5 = 5+ 3 = 8 that is the whole numbers can be
added in any order . In other words , addition is commutative for whole
numbers

Can we say the same fot integers also ? We have
5+4(—6)=(—6)+5

Are the following equal ?

MN(-8+(-9) and (-9)+(-28)

(i) ( — 23) + 32 and 32 + ( — 23)

(iii) ( — 45) + 0 and 0 + ( — 45)

Try this with five other pairs of inegers .Do you find any pairs of intergers

for which the sums are different when the order is changed ?

o Watch Video Solution



https://dl.doubtnut.com/l/_2scWS4mnNwae
https://dl.doubtnut.com/l/_sChraTeTRgzn
https://dl.doubtnut.com/l/_vhQAZvH0mQwH

4. Let us try with five other pairs of integers .

24+ (—4) and (—4) +2

° Watch Video Solution

5. Let us try with five other pairs of intergers .

(—5)+(—10) and ( — 10) + ( — 5)

° Watch Video Solution

6. Let us try with five other pairs of intergers .

37+ 16 and 16 + 37

° Watch Video Solution

7. Let us try with five other pairs of integers .

(—12) + 18 and 18 4 ( — 12)

° Watch Video Solution



https://dl.doubtnut.com/l/_vhQAZvH0mQwH
https://dl.doubtnut.com/l/_t7PB5xQKBKej
https://dl.doubtnut.com/l/_JxDOTxfpDENI
https://dl.doubtnut.com/l/_2LoG0f5Zodmv

8 Let wus try with five other pairs of integers

(= 100) + ( — 200) and ( — 200) + ( — 100)

° Watch Video Solution

9.If a,b and c are three integers then

a+(b+c)=(a+bd)+ec

i.e addition is associative for integers Consider -3,1,-7 (-3)+[1+(-7)]=-3+....=.....
(=3 +1+(-7)= —2+.ceeeeeec. = .. Is(— —=3)+[1+(
sameas [( — 3) + 1] + ( — 7) ? Take 5 more such examples . You will not

find nay example for which the sums are different .

° View Text Solution

10. Let us take five more such examples to verify Associativity.

(=D+[(-2)+ (=3 and [(-1)+(-2)]+(-3)

| ° Wiak~h \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_2LoG0f5Zodmv
https://dl.doubtnut.com/l/_vhlVXSGzswX7
https://dl.doubtnut.com/l/_niDjo8GsC8No
https://dl.doubtnut.com/l/_ZmlwCG7fEvdM
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11. Let us take five more such examples to verify Associativity.

(—5)+[(—15) + 10 and [( —5) + ( — 15)] + 10

° Watch Video Solution

12. Let us take five more such examples to verify Associativity.

[(—8)+(—2)]+11 and ( —8) + [( — 2) + 11]

° Watch Video Solution

13. Let us take five more such examples to verify Associativity.

[10 + 20] + ( — 30) and 10 + [20 + ( — 30)]

° Watch Video Solution



https://dl.doubtnut.com/l/_ZmlwCG7fEvdM
https://dl.doubtnut.com/l/_C9zqbdyddQFW
https://dl.doubtnut.com/l/_k6THnRL07NrE
https://dl.doubtnut.com/l/_a69mYXOB4sIW

14. Let us take five more such examples to verify Associativity.

[5+7 +9and 5+ [7+ 9]

o Watch Video Solution

15. When we add zero to any whole number we get the same whole
number Zero is called the additive identity for whole numbers .Is it an
additive identity again for integers also Observe the following and fill in
the blanks

(i) (-8)+0=-8

(i) 0+(-8)=-8

(iii) (-23) +0=

(iv) 0+(-37)=-37

(v) 0+(-59)=...

(vi) O+..=-43

(vii) -61 +....=-43

(vii) -61 +..=-61

(viii) .+0= ....


https://dl.doubtnut.com/l/_Qmx3HpzM5u4d
https://dl.doubtnut.com/l/_mPv3KvLSkvyU

The above examples shows that zero is an additive identity for integers .
you can verify it by a adding zero to any other five integers . In general ,
for any integer a,

a+0=0+a=a

o Watch Video Solution

16. Can you find the product ( — 3) x ( — 2) ?

o Watch Video Solution

17. Can you find the product ( —3) x ( — 2) ? Observe the following

—3x4 = —12
—3x3 =-9 = -12-(-3)
—3x2 =6 = —9—(-23)
—3x1 =-3 = —6-(-23)
—3x0 =0 = —-3-(-3)

—3x -1 =0-(-3) =0+3=3

—3x —2 =3-(-3) =3+3=6


https://dl.doubtnut.com/l/_mPv3KvLSkvyU
https://dl.doubtnut.com/l/_rk4UdI3uCKrK
https://dl.doubtnut.com/l/_cvrXDCN5o4Xd

Do you see any pattern ? Observe how the product changes Based on this

observation , complete the following :

° Watch Video Solution

18. Now observe these products and fill in the blanks
—4x4 = —16
—4x3 = -12 = —-16+4

—4x2 =... = —12+4

° Watch Video Solution



https://dl.doubtnut.com/l/_cvrXDCN5o4Xd
https://dl.doubtnut.com/l/_PoI7INeVjyVW
https://dl.doubtnut.com/l/_smskLk00G5BK

19. What is the product of first five negative negative integers ? So , what

will be the product of first six negative integers ?

° Watch Video Solution

20. Observe the following table and complete it .

Statement Inference

(- 20) x (- 5) = 100 Product is an integer.
(- 15) % 17 == 2556 Prodiicl is an integer
(—30)x12==360 Producl is an integer
(-15)x(—23)=345 Productl is an infeger
(- 19 x (- 13) =182 Product is an integer
12 x (- 30) = =360 Product is an integer

What do you observe ? Can you find a pair of integer whose product not

an integer?

° Watch Video Solution

21. We know that multiplicatio is commutative for whole numbers : Can

we say multiplication is also commutative for integers ?

| o Wik L\ dan C Al ikl n


https://dl.doubtnut.com/l/_smskLk00G5BK
https://dl.doubtnut.com/l/_x3JFpKxHbgBu
https://dl.doubtnut.com/l/_PlluXlkKiNWf
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Think Discuss And Write

1. The product ( —9) x ( —5) x ( — 6) x ( — 3) is positive where as the

product ( —9) x ( —5) x 6 x ( — 3) is negative Why ?

° Watch Video Solution

2. What will be the sign of the product if we multiply together

8 negative integers and 3 positive intergers ?

° Watch Video Solution

3. What will be the sign of the product if we multiply together

5 negative integers and 4 positive integers ?

° Watch Video Solution



https://dl.doubtnut.com/l/_PlluXlkKiNWf
https://dl.doubtnut.com/l/_UQ548BjIcLEo
https://dl.doubtnut.com/l/_mGUDg9OyD6zj
https://dl.doubtnut.com/l/_ihZGGRL7nme8

4. What will be the sign of the product if we multiply together

(-1), twelve times ?

° Watch Video Solution

5. What will be the sign of the product if we multiply together

(-1),2 m times , mis a natural number ?

° Watch Video Solution

1. Following number line shown the temperature in degree celcius (°C)
at different places on a particular day

“'\

b

Lahulspiti Srinagar Shimls Ooty Beng:]w

A i - P b |
-10 -5 a & 14 15 20 26



https://dl.doubtnut.com/l/_J13tVidBwSqI
https://dl.doubtnut.com/l/_MOLul33Bs69a
https://dl.doubtnut.com/l/_5DfEbt39OxyT

Observe this number line and write the temperature of the places marked

onit.

o Watch Video Solution

2. Following number line shown the temperature in degree celcius (°C)

at different places on a particular day

Lahulapiti Srinagar Shimia Coty Bengaleru
- -«
A e +-+—{—th+:+ﬂhH-r—|'+H—t—+—t—H-l—'F—v—:;+'—-:—'}
-10 -5 a i1 11 Ih ) o5

What is the temperature difference between the hottest and the coldest

places among the above ?

o Watch Video Solution

3. Following number line shown the temperature in degree celcius (°C)

at different places on a particular day


https://dl.doubtnut.com/l/_5DfEbt39OxyT
https://dl.doubtnut.com/l/_JtV4DqR3zQdL
https://dl.doubtnut.com/l/_w2yVtaj3pOdT

Lahulspiti Srinagar Shimla Ooty Hengaluru
-« -

A **H-ﬁ—i—-ﬁ-i—t—m—l\#‘—#ﬂ-—“-ﬁ—*—q—;-—:—i

10 -5 0 5 10 15 20 % What is the

temperature difference between Lahulspiti and Srinagar ?

o Watch Video Solution

4. Following number line shown the temperature in degree celcius (° C)

at different places on a particular day

Lahulspiti Srinagar Shimla Qoty Bengalu
by g
Aty ] .
-10 -8 a kS 14 15 20 25

Can we say temperature of Srinagar and Shimla taken together is less
than the temperature at Shimla ?Is is also less than the temperature at

Srinagar ?

o Watch Video Solution

5. In a quiz ,positive marks are given for correct answers and negative

marks are given for incorrect answers .If Jack 's score in five succesive


https://dl.doubtnut.com/l/_w2yVtaj3pOdT
https://dl.doubtnut.com/l/_ONeS80uKfSxa
https://dl.doubtnut.com/l/_EIct7GfY32rT

rounds were 25,-5,-10,15,10 what was hos total at the end .

o Watch Video Solution

6. At Srinagar temperature was —5° C' on Monday and then it dropped by
2°C on Tuesday .What was the temperature of Srinagar on Tuesday ? On

Wednesday , it rose by 4° C' .What was the temperature on this day ?

o Watch Video Solution

7. A plane is flying at the height of 5000 m above the sea level At a
particular point , it is exactly above a submarine floating 1200 m below

the sea level What is the vertical distance between them ?

o Watch Video Solution

8. Mohan deposits Rs. 2000 in his bank account and withdraws Rs . 1642

from it next day .If withdrawl of amount from the account is represented


https://dl.doubtnut.com/l/_EIct7GfY32rT
https://dl.doubtnut.com/l/_SS7dSNN0fHOT
https://dl.doubtnut.com/l/_guMZkVhu9zpF
https://dl.doubtnut.com/l/_KdTYAtBBLTL4

by a negative integer then how will you represent the amount deposited

? Find the balance in Mohan 's account after the withdrawl ?

o Watch Video Solution

9. Rita goes 20 km towards east from a point A to the point B.. From B she
moves 30 km towards west along the same road .If the distance towards
the east is represented by a positive integer , then how will you represent
the distance travelled towards west ? By which integer will you represent

her final position from A ?

o Watch Video Solution

10.1n a magic square each row , column and diagonal have the same sum.

Check which of the following is a magic square .

i) (i) = R
5 | -1]-4 1 [-10] 0
-+ | -2l 7 -4 |-3]-2
o | 3]-3 -6 | ¢ |7



https://dl.doubtnut.com/l/_KdTYAtBBLTL4
https://dl.doubtnut.com/l/_rMHNtFDde89d
https://dl.doubtnut.com/l/_VNbqTWE4FCrX

I o Watch Video Solution

11. Verify a-(-b) =a +b for the following value of a and b . a=4,b=7

o Watch Video Solution

12. Use the sign of >, < or =in the blank to make the statements true

1500g__1kg

o Watch Video Solution

13. A water tank has steps inside it . A monkey is sitting on the top most

step (i.e . The first step).The water leve is at the ninth step .


https://dl.doubtnut.com/l/_VNbqTWE4FCrX
https://dl.doubtnut.com/l/_LO9qDbc9HVEO
https://dl.doubtnut.com/l/_pSvbQjGPhaBM
https://dl.doubtnut.com/l/_ayLEABhPc0t4

He jumps 3 steps down and then jumps back 2 steps up . In how many

jumps will he reach the water level ?

° Watch Video Solution

14. A water tank has steps inside it . A monkey is sitting on the top most

step (i.e . The first step).The water leve is at the ninth step .


https://dl.doubtnut.com/l/_ayLEABhPc0t4
https://dl.doubtnut.com/l/_pOucepFw1ExD

After drinking water , he wants to go back .For this he jumps 4 steps up
and theu jumps back 2 steps down in evergy move .In how many jumps

will be reach back the top step ?

o Watch Video Solution

15. A water tank has steps inside it . A monkey is sitting on the top most

step (i.e . The first step).The water level is at the ninth step .


https://dl.doubtnut.com/l/_pOucepFw1ExD
https://dl.doubtnut.com/l/_EVAB1dmBcwwk

If the number of steps moved down is represented by negative integers
and the number of steps moved up by positive integers , represents his
moves in part (i) and (ii) by completing the following (a) -3+2-...=-8 (b) 4-
2+...=8 .In (a) the sum (-8) represents going down by eight steps .So what

will the sum 8 in (b) represent?

° Watch Video Solution



https://dl.doubtnut.com/l/_EVAB1dmBcwwk

1. Write down a pair of integers whose

sun is (-7)

o Watch Video Solution

2. Write down a pair of integers whose

difference is (-10)

o Watch Video Solution

3. Write down a pair of integers whose

sumis O.

o Watch Video Solution

4. Write a pair of negative integers whose difference gives 8

o Watch Video Solution



https://dl.doubtnut.com/l/_1THLQRovqumr
https://dl.doubtnut.com/l/_LXhEFCnJKs7e
https://dl.doubtnut.com/l/_GAG06Rx9PlWO
https://dl.doubtnut.com/l/_lYWSpxoE0uSV

5. Write a negative integer and a positive integer whose sum is - 4

° Watch Video Solution

6. Write a negative integer and a positive integer whose difference is -3.

° Watch Video Solution

7.1n a quiz , team A scored - 40,10, 0 and team B scored 10, 0, - 40 three
successive rounds Which team scored more ? Can we say that can add

integers in any order ?

° Watch Video Solution

8.Fill in the blanks to make the following statements true

(=5 +(-8=(-8+_

e l


https://dl.doubtnut.com/l/_lYWSpxoE0uSV
https://dl.doubtnut.com/l/_6vbSJrGUdYdM
https://dl.doubtnut.com/l/_lqUiY9muyw5Q
https://dl.doubtnut.com/l/_1umOOic24zC2
https://dl.doubtnut.com/l/_k4PgNT5Zz6ZU

| ¥ Vvatch Video Solution

9.-53+_= —33

o Watch Video Solution

10.Fill in the blank 17+ =10

o Watch Video Solution

M3+ (12)] +_=13+[( —12) + (= 17)]

o Watch Video Solution

2.(-4) + 15+ (=3 =[—-4+15 +_

o Watch Video Solution



https://dl.doubtnut.com/l/_k4PgNT5Zz6ZU
https://dl.doubtnut.com/l/_WugFQr6oRVK9
https://dl.doubtnut.com/l/_xu3w4mlFJ0Hn
https://dl.doubtnut.com/l/_osgym0dA5hBf
https://dl.doubtnut.com/l/_QxBeCeVANLGN

1. Find each of the following products

Ix(—1) =

° Watch Video Solution

2. Find each of the following products

(—1) x 225 =

° Watch Video Solution

3. Find each of the following products

(—21) x (- 30) =

° Watch Video Solution



https://dl.doubtnut.com/l/_DOzN8FPPcR4H
https://dl.doubtnut.com/l/_5noMmf7Du6Gy
https://dl.doubtnut.com/l/_Z8jPrEp8rGb9

4. Find each of the following products

(—316) x (—1) =

o Watch Video Solution

5. Find each of the following products

(—15) x 0 x ( — 18)

o Watch Video Solution

6. Find each of the following products

(—12) x (—11)] x 10

o Watch Video Solution

7. Find each of the following products

9x (—3)x(—6)



https://dl.doubtnut.com/l/_6n8c2qHTc2Pe
https://dl.doubtnut.com/l/_HaKIgBsNaEAL
https://dl.doubtnut.com/l/_LwFfC0b5BsOf
https://dl.doubtnut.com/l/_OgGesLAQBXnu

| & Watch Video Solution

8. Find each of the following products

(—18) x(=5)x(—-4)

o Watch Video Solution

9. Find each of the following products

(1) x(—2)x(—3) x4

o Watch Video Solution

10. Find each of the following products

(=3)x(=6)x(=-2)x(-1)

o Watch Video Solution



https://dl.doubtnut.com/l/_OgGesLAQBXnu
https://dl.doubtnut.com/l/_eYePji1t4VTN
https://dl.doubtnut.com/l/_l2IRrnOb3Njt
https://dl.doubtnut.com/l/_c5ILAPbLR8T2

1. Verify the following

(@18 x [T+ (—3)] = [18 x 7] + [18 x ( — 3)]

o Watch Video Solution

12. For any integer a,what is ( — 1) X aequal to?

o Watch Video Solution

13. Starting from ( — 1) X 5 write varius products showing some pattern

toshow(—1) x (—1) =1

o Watch Video Solution

14.Find the products , using suitable properties .

26 x (— 48) + ( — 48) x ( — 36)

o Watch Video Solution



https://dl.doubtnut.com/l/_5aEClCOw0Psp
https://dl.doubtnut.com/l/_wydcg0oPI6Up
https://dl.doubtnut.com/l/_FBf6trbiIoVj
https://dl.doubtnut.com/l/_RTBhidiIR8Jy

15. Find the products , using suitable properties .

8 x 53 x ( — 125)

o Watch Video Solution

16. Find the products , using suitable properties .

15 x (—25) x (—4) x (—10)

o Watch Video Solution

17. Find the products , using suitable properties .

—(41) x 102

o Watch Video Solution



https://dl.doubtnut.com/l/_RTBhidiIR8Jy
https://dl.doubtnut.com/l/_mszuqiNq0WBq
https://dl.doubtnut.com/l/_3YvnAoagBfZ9
https://dl.doubtnut.com/l/_u7XW9HvNvBSh

18. Find the products , using suitable properties .

625 x ( — 35) + ( — 625) x 65

o Watch Video Solution

19. Find the products , using suitable properties .

7 x (50 — 2)

o Watch Video Solution

20. Find the products , using suitable properties .

(—17) x ( — 29)

o Watch Video Solution

21. Find the products , using suitable properties .

(—57) x (—19) + 57



https://dl.doubtnut.com/l/_m3K7mZScntZ0
https://dl.doubtnut.com/l/_vzoM3K01PG1k
https://dl.doubtnut.com/l/_GxDzL0GKvwQd
https://dl.doubtnut.com/l/_YEM89ulbOISA

l & Watch Video Solution J

22. A certain freezing process required that room temperature be
lowered from 40° C' at the rate of 5° C every hour What will be the room

temperature 10 hours after the process begins ?

o Watch Video Solution

23.In a class test containing 10 questions , 5 marks are are awarded for
every correct answer and (-2) marks are awarded for every incorrect
answer and O for questions not attempted.

Mohan gets four correct and six incorrect answers .What is his score ?

o Watch Video Solution

24.1n a class test containing 10 questions , 5 marks are are awarded for
every correct answer and (-2) marks are awarded for every incorrect

answer and O for questions not attempted.


https://dl.doubtnut.com/l/_YEM89ulbOISA
https://dl.doubtnut.com/l/_EKVdZlpaTEid
https://dl.doubtnut.com/l/_pEb4WMY23oJi
https://dl.doubtnut.com/l/_npr6bsIcVBAc

Reshma gets five correct answer and five incorrect answers . What is her

score ?

o Watch Video Solution

25.1n a class test containing 10 questions , 5 marks are are awarded for
every correct answer and (-2) marks are awarded for every incorrect
answer and O for questions not attempted.

Henna gets two correct and five incorrect answers out of seven questions

she attempts .What is her score ?

o Watch Video Solution

26. A cement company earns a profit of Rs.8 per bag of white cement sold
and a loss of Rs.5 per bag of grey cement sold.
The company sells 3,000 bags of white cement and 5,000 bags of grey

cement in a month. What is tis profit or loss?

o Watch Video Solution



https://dl.doubtnut.com/l/_npr6bsIcVBAc
https://dl.doubtnut.com/l/_F9yaDJVj8e5R
https://dl.doubtnut.com/l/_iQAqklXjruX8

27. A cement company earns a profit of Rs.8 per bag of white cement sold
and a loss of Rs.5 per bag of grey cement sold.
What is the number of white cement bags it mus sell to have neither

profit nor loss, if the number of grey bags sold is 6,400 bags.

° Watch Video Solution

28. Replace the blank with an integer to make it a true statement .

(—3) x...=27

° Watch Video Solution

29. Replace the blank with an integer to make it a true statement .

5% ... =(—35)

° Watch Video Solution



https://dl.doubtnut.com/l/_iQAqklXjruX8
https://dl.doubtnut.com/l/_U6fWeHRUOtLJ
https://dl.doubtnut.com/l/_gCoS5qWarkal
https://dl.doubtnut.com/l/_s49QEPaU0rOJ

30. Replace the blank with an integer to make it a true statement .

o Watch Video Solution

31. Replace the blank with an integer to make it a true statement .

Cx (= 12) = 132

o Watch Video Solution

1. Evaluate each of the following :

(—30) =10

° Watch Video Solution



https://dl.doubtnut.com/l/_zA6GNENcgFXj
https://dl.doubtnut.com/l/_yFD6Z7jq7yMA
https://dl.doubtnut.com/l/_gBrzyJ232Rfx

2. Evaluate each of the following :

50 = ( — 5)

o Watch Video Solution

3. Evaluate each of the following :

(—36) = (—9)

o Watch Video Solution

4. Evaluate each of the following :

(—36) = (—9)

(— 49) + (49)

o Watch Video Solution



https://dl.doubtnut.com/l/_cJyLimAfTUZk
https://dl.doubtnut.com/l/_2ncmberMQ7gG
https://dl.doubtnut.com/l/_I4Y7RXB7bKY7

5. Evaluate each of the following :

13+ [(—2) + 1]

o Watch Video Solution

6. Evaluate each of the following :

0+(—-12)=0

o Watch Video Solution

7. Evaluate each of the following :

(=31) +[(=30) +(—1)]

o Watch Video Solution

8. Evaluate each of the following :

[(—36) ~12] ~3



https://dl.doubtnut.com/l/_FU4q5PCc8n2j
https://dl.doubtnut.com/l/_eWKcK9EFTrX5
https://dl.doubtnut.com/l/_006Kb9JD75Lm
https://dl.doubtnut.com/l/_MpSuysRTCowu

| &J Watch Video Solution I

9. Evaluate each of the following :

[(=6) +5] +[(—2) +1]

o Watch Video Solution

10. Verify that @ <+ (b + ¢) # (a + b) + (a + ¢) for each of the following
values of a,b and ¢

a=12,b= —4,c=2

o Watch Video Solution

1. Verify that a + (b + ¢) # (a + b) + (a =+ ¢) for each of the following
values of a,b and ¢

a=(—-10),b=1,c=1

o Watch Video Solution



https://dl.doubtnut.com/l/_MpSuysRTCowu
https://dl.doubtnut.com/l/_izeZEb9FtIgO
https://dl.doubtnut.com/l/_UVvKgQPyO76W
https://dl.doubtnut.com/l/_0YNWemfKRM9J

12. Fill in the blanks

369 + _ = 369

o Watch Video Solution

B.(-75)+ = —1

o Watch Video Solution

14.(—206) ~_ =1

o Watch Video Solution

5.(—77)+ =177

o Watch Video Solution



https://dl.doubtnut.com/l/_TONZCDxywcRI
https://dl.doubtnut.com/l/_33t3UwooRBsy
https://dl.doubtnut.com/l/_mYN2z7hkqocZ
https://dl.doubtnut.com/l/_jGeX0HBjNtVZ

16. = 1= —87

o Watch Video Solution

17.(—48) + = —1

o Watch Video Solution

18.20 +_= —2

o Watch Video Solution

9. -4= —3

o Watch Video Solution



https://dl.doubtnut.com/l/_jTgXz1oIQliv
https://dl.doubtnut.com/l/_PVcIKHFgd6Sv
https://dl.doubtnut.com/l/_xgaYnSAcpF7O
https://dl.doubtnut.com/l/_EW40LFwD2awE

20. Write a pair of integers (a,b)such that a < b = — 3 .0One such pairs is

(6,-2) because 6 + ( — 2) = ( — 3)

o Watch Video Solution

21. The temperature at 12 noon was 10° C above zero. If it decreases at
the rate of 2°C per hour until midnight, at what time would the
temperature be 8° C below zero? What would be the temperature at mid-

night?

o Watch Video Solution

22.1n a class test (+3) makrs are given for every correct answer and (-2)
marks are given for every incorrect answer and no marks for not
attempting any question.

Radhika scored 20 marks. If she has got 12 correct answer, how many

questions has she attempted incorrecly?

| o WMl L\ dan C Al iklmn


https://dl.doubtnut.com/l/_C95xkif2j9p5
https://dl.doubtnut.com/l/_VaCgCbA0vryX
https://dl.doubtnut.com/l/_nYmmt2gMLHwU
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23. An elevator descends into a mine shaft at the rate of 6m / min . If the
descent starts frm 10m above the ground level, how long will it take to

reach -350 m.

o Watch Video Solution

Additional Questions For Practice Objective Type Questions

1. Fill in the blanks : Next number in the pattern -10,7,-4,-1is _.

° Watch Video Solution

2.When O is divided by a non zero integer quotient is _

° Watch Video Solution



https://dl.doubtnut.com/l/_nYmmt2gMLHwU
https://dl.doubtnut.com/l/_O1GVmndwrMUP
https://dl.doubtnut.com/l/_z1jYPtcYBaWJ
https://dl.doubtnut.com/l/_RazkTTPWYrxn

3. Value of the ecpressioson [(60) + 12] +~ ( — 5) is _.

o Watch Video Solution

4. Inteher whose product with (-1) is 35is _.

o Watch Video Solution

5. Multiplication is distributive over _ and _ in integer.

o Watch Video Solution

6. State whether true of false .

1is the additive identity for intergers .

o Watch Video Solution



https://dl.doubtnut.com/l/_unGhL0zJh9dJ
https://dl.doubtnut.com/l/_YdA98VjR080T
https://dl.doubtnut.com/l/_y6ALakukNiU0
https://dl.doubtnut.com/l/_0XhfDQrxW7wh

7. Product of 7 negative integer is negative

o Watch Video Solution

8.0 is the successor of -1.

o Watch Video Solution

9.—7 x — 9 x 0is a positive interger.

o Watch Video Solution

10.1f a, b, c are three integers then (a ~b) ~+c=a + (b + ¢)

o Watch Video Solution

11. — 7 . Divided by O is zero


https://dl.doubtnut.com/l/_qyHdjup4SPBd
https://dl.doubtnut.com/l/_ke2hvU3OyMWp
https://dl.doubtnut.com/l/_zqbnlgiNv1tv
https://dl.doubtnut.com/l/_VBCDaIPK1o0q
https://dl.doubtnut.com/l/_JEoMNLO6VleJ

° Watch Video Solution

12. Match the following Column | to Column II

(a} 0
by -2
(e} -2 exceeds -3
(d} 1 isthe identity for
e} 2783 =3I =2

o Watch Video Solution

Additional Questions For Practice Short Answer Type Questions

1. Justify the following statements .

Sum of a positive integer and a negative integer is always a positive

integer.

° Watch Video Solution

2. Product of two integers is always greater than the sum of integers.


https://dl.doubtnut.com/l/_JEoMNLO6VleJ
https://dl.doubtnut.com/l/_XGKOZVUeIww1
https://dl.doubtnut.com/l/_7R3ZJfGHb3Gl
https://dl.doubtnut.com/l/_gYdtzAxQ1Vzn

° Watch Video Solution

3. Find using distributive properties

5439 + 5439 x 9

° Watch Video Solution

4. Evaluate using suitable rearrangement .

—8x 63 x25x —10

° Watch Video Solution

5. Evaluate using suitable rearrangement .

50 x 1695 x 2

° Watch Video Solution



https://dl.doubtnut.com/l/_gYdtzAxQ1Vzn
https://dl.doubtnut.com/l/_WTOVI8h2TJtL
https://dl.doubtnut.com/l/_l56ozKqtdwIV
https://dl.doubtnut.com/l/_kYPgkwfpd1po

6. Sum of two integers is - 24 . If one of the integer is 30, find the other .

o Watch Video Solution

7.By what number should 625 to be divided to obtain (-25).

o Watch Video Solution

8. Multiply 12 by (-1) and state whether the product is the additive inverse

of 12 or not .

o Watch Video Solution

Additional Questions For Practice Long Answer Type Questions

1. Verify -

20 x [(=3)+(—7] =1[(—210) x (—3)] +[( —210) x ( —7)]



https://dl.doubtnut.com/l/_xI2cvltKoPhs
https://dl.doubtnut.com/l/_UvDFGraWL75E
https://dl.doubtnut.com/l/_yWmD45MbLdI7
https://dl.doubtnut.com/l/_CIJCnhXm6j2N

| o Watch Video Solution

2. A fruit merchant gets a profit of Rs. 120 per bag of apples sold and loss
of Rs. 60 per bag on orange sold .find the number of bags of apples he

should sell to make no profit no loss . If he sold 40 bags of oranges.

o Watch Video Solution

3. A kite begin to decend towards the ground from aheight of 7250 feet .
If it decends at the rate of 250 feet per minute , find the height after 15

minutes .

o Watch Video Solution

4. At the end of fourth round of the quiz contest . Ranya scored 120
points . In the final round , she lost 3 points each for 6 questions and

gained 2 points each for 7 questions . What was her score at the end ?

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_CIJCnhXm6j2N
https://dl.doubtnut.com/l/_CYieJHcHoHJR
https://dl.doubtnut.com/l/_jhONePEk1VHS
https://dl.doubtnut.com/l/_BnP05Nh0VfTt
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Sample Paper For Practice

1. Fill in the blanks

....... Is the greatest negative integer .

° Watch Video Solution

2.There are ..... pairs of integers satisfyinga ~b = —1

° Watch Video Solution

3. When we add an integer and its additive inverse we get .....

° Watch Video Solution

4.9 km to south can be indicated using interger.....


https://dl.doubtnut.com/l/_BnP05Nh0VfTt
https://dl.doubtnut.com/l/_3I46N4AQ5JoF
https://dl.doubtnut.com/l/_vNuxX6Rt2rJo
https://dl.doubtnut.com/l/_BrypV89RjJIy
https://dl.doubtnut.com/l/_w6wy9Uhx452f

° Watch Video Solution

5. Division of any integer by zero is ...

° Watch Video Solution

6. Multiplecative inverse of -9 is ........

° Watch Video Solution

7. State whether true or false

Closure property holds true for division of integers .

° Watch Video Solution

8. Convert the following

1200cm= mm



https://dl.doubtnut.com/l/_w6wy9Uhx452f
https://dl.doubtnut.com/l/_109QH6602dnG
https://dl.doubtnut.com/l/_2YtXl7xL9zyi
https://dl.doubtnut.com/l/_KrF3D2cl8g1K
https://dl.doubtnut.com/l/_elGgDkP9xfoo

| ° Watch Video Solution

9. -17 x 9is a whole number.

° Watch Video Solution

10. Integer O has no predecessor .

° Watch Video Solution

11. Every negative integer is smaller than zero .

° Watch Video Solution

12.4 morethan-2is 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_elGgDkP9xfoo
https://dl.doubtnut.com/l/_c1mwyjusnP3w
https://dl.doubtnut.com/l/_4lSfCZE1uTtf
https://dl.doubtnut.com/l/_swmG8ppZhEhz
https://dl.doubtnut.com/l/_Eoo1BR8AEif3
https://dl.doubtnut.com/l/_9gRMmZPflGZd

13. Justify the statements whether sum of two integers is always greater

then their difference .

° Watch Video Solution

14. Calcuulate the sumof (7) + (= 7))+ (7)) +(—7) +....

If the number of terms is 100

° Watch Video Solution

15. Calculate the sumof (7) + (= 7))+ (7)) + (= 7) + .. ..

If the number of terms is 199 .

° Watch Video Solution

16. Find an integer which when multiplied by 3 and then divided by 2

becomes -21.

. l


https://dl.doubtnut.com/l/_9gRMmZPflGZd
https://dl.doubtnut.com/l/_ISVKZ8iz5Gfz
https://dl.doubtnut.com/l/_bTjISxcvDjH8
https://dl.doubtnut.com/l/_FGHnFaE8MRCr

| ¥ vvaticn video solution

17. Write the pairs of intergers whose

sum is -5

° Watch Video Solution

18. Write a pair of integer whose difference is -9

° Watch Video Solution

19. Write the pair of integers whose product is -15

° Watch Video Solution

20. A number when divide by 6 gives the quotient 6. What is the number?

° Watch Video Solution



https://dl.doubtnut.com/l/_FGHnFaE8MRCr
https://dl.doubtnut.com/l/_WR4DJCuRMoPh
https://dl.doubtnut.com/l/_yKdqUHpub9Cm
https://dl.doubtnut.com/l/_Sv8ERfkJ2KsT
https://dl.doubtnut.com/l/_lrEqr2UAlUaC

21. Rohan bought 80 chocolates . He kept 10 chocolates with him and
distributed remaining chocolates equally among 7 friends .How many did

each get ?

° Watch Video Solution

22.Integers 10, -7, 5 ,3,-4, 0 are marked on the number line Arrange them
in ascending order Write the integer which lies on the extreme right and

extreme left .

° Watch Video Solution

23.Verifya x (b+c¢) =axb+axcfora=3,b= —2,c= —1

° Watch Video Solution



https://dl.doubtnut.com/l/_XGoIUTEQV1lN
https://dl.doubtnut.com/l/_wnqxh7zQfzR6
https://dl.doubtnut.com/l/_WsBy07ISgXYr

24. Evaluate each of the following :

(=31) +[(=30) +(—1)]

o Watch Video Solution

25, Evaluate

[(—39) +13] =3

o Watch Video Solution



https://dl.doubtnut.com/l/_uf8ZjsU9np5f
https://dl.doubtnut.com/l/_83m1dzvcmmUO

